
EURO 6  

TRIP HAZARD CATWALK PANEL 

FITTING INSTRUCTIONS 

TOTAL FITTING TIME  =  30 MINUTES 

KUDA UK LTD 

Tel:    01449 744174          Email:  sales@kudauk.ltd.uk          Web:   www.kudauk.ltd.uk 



Original catwalk setup, as supplied 

from factory. 

Remove 10 x mounting rubber 

blocks, leaving second from front 2 

in place 

(as shown left). 

 

(Dispose of front 2, as these will not 

be needed) 

Remove 2 x rear catwalk panels. 



Note:  Before tightening these 

screws/nuts, align original catwalk 

panels with rubber mounting blocks 

and original catwalk screw holes. 

 

 

 

Locate new catwalk panel, sliding 

front edge under original catwalk 

panel, and aligning locating holes in 

panel with rubber mounting blocks. 

Secure with M8x12mm dome head 

screws & washers provided. 

 

Stick strip of adhesive foam on 

bottom return of catwalk fitting 

plates (as shown left). 

Fit 8 x rubber mounting blocks onto 

studs on fitting plates.  

Locate new catwalk fitting plates 

onto chassis, aligning 8 x holes with 

original rubber mounting block posi-

tions. 

Secure plates through 6 existing 

chassis holes (3 each side) with 

M8x25 screws, washers and nyloc 

nuts supplied. 

 

. 



Replace original catwalk panel, se-

curing onto rubber mounting blocks, 

using original screws. 

Parts List: 

1 x CATWALK PANEL 

1 x NEARSIDE CATWALK FITTING PLATE 

1 x OFFSIDE CATWALK FITTING PLATE 

2 x M8 x 12mm BUTTON HEAD SCREWS 

6 x M8 x 25mm SCREWS 

6 x M8 NYLOC NUTS 

12 x M8 x 20 WASHERS 

2 x 90mm ADHESIVE FOAM PADS 

Replace original catwalk panel, se-

curing onto rubber mounting blocks, 

using original screws. 

 

NOTE: Catwalk is longer on offside, 

(as shown left). 

CATWALK PANEL 

NEARSIDE 

CATWALK 

FITTING 

PLATE 

OFFSIDE 

CATWALK 

FITTING 

PLATE 

OFFSIDE HAS 
SQUARE-
PUNCHED 

HOLE 


